2017-12-12 11:00 am - 02:00 pm T4527 - B.E.(COMPUTER ENGG)(SEM
VI {CBSGSYREV-2012)/ T1311 - 3} Image Processing

Q. P Cﬁde' 26195
( 3 Hours ) ' .' 30 Marks

N.B. 1. Question No.1 is Compulsory

2. Attempt any THREE questions out of remaining. TR N e B Y At
3.Assume suitable data wherever required o T o v 6 s

1. Answer the following gy IEIS TSI E sgzrqzzw O3
a. Explain Fidelity Criteria R o S _'L;'-.;,-:._'-r%k*?*;.i'_ &
b. Give the Difference between Lossless and Loswﬁ:umpressmn_ FIEE 39 W, IS

c. Explain Opening and Closing AN S R e N 7
d

Two images can have the same hlstngram {Justlf\.r / Cc:ntradlct mth géasonL
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Q.2.a Using the Butterfly diagram, cﬂmpute Hadamard transfurm fﬂr S T 10 M
X(n)={1,2,3,4,1,2,1,2} gl sy a2 ¥ AN ol _"“r_'

Q.2.b. Find the arithmetic cnd&ward f-:ur the message INDIA '{__._- A o T 10M
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Q.3.a What are the different types of redundanc:es m an m@ge? E,}cplaln Run 10M
Length Encoding WIth appropr:ate example whmm "tk d‘rawhatks?

Q.3b. Find the DCTufthejf.qllllt:iWi_ng_:i'fn_age P R A _—
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Q.4. a Perf:::-rm H:stngram{quahgatmn and Draw new equallzed histogram of the 10M
fuliawmg |mag5-': dat‘aﬂ,
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Q 4 b Expi‘&u}\GIuhai prucessingwa Graph Theoretic Technique ?Find the optimal 10 M
fﬁ for the followmg image -
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Q.5.a Given
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Q.6 Write short notes on

1) 4,8 and M-connectivi
2) Vector quantization

3) Median Filter
4) HSI color model
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